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The graph of y = 16 - x%i e - - i ; ; o .| arholwr

y =16 —-x? is shown below for values of x from 0 to 3 Thetlvilg(;:‘u_\.ls metres per second, of a particle at time f seconds is given by the equation | ynurig

: v= 47+ 1.
A table of values of v for values of ¢ between ¢ =0 and ¢ = 3 is given below.
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Use the trapezium wi = = = -
rule, with the four i x=2andx

gl ) rordinates x =0, x =1, x = i

] ; oy  thoraxie. the yoaxis g 3, to estimate the area of

0 1 2 3
(a) Use the trapezium rule with three strips of equal width to find the approximate area of the
1 the curve and the f-axis from = Otor=3.

shaded region betwee
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(b) The area found in part (@) represents one of the following.

Average Speed  or Velocity or Acceleration or Distance or Time
[

Circle the correct answer.
Turn over.
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The graph below shows the speed of a train, in m/s, over a period of 100 seconds starting at time

" t=0 seconds.
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(a) Estimate the acceleration of the train at time ¢ = 40 seconds.
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(b) The table below gives the speed of the train between ¢ =70 and ¢ = 100.

Time ¢
) 70 80 9% 100
(Slgle;")" 36 29 18 0

Use the trapezium rule with the values taken from the table to estimate the distance, in
metres, travelled by the train between r = 70 and ¢ = 100 seconds.
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Turn over.



